1/0’ dU’/d 11‘1(]/12)

Ratio

Durham jet resolution 2 — 1

10" T ‘ [ — ‘ [ ‘ T T T 1 1 =
4 -
10" = =
- Lund ]
107% & —— Analysis | E
- — Analysis -
1073 Analysis == —
- — Analysis — 3
104 = ~ ~ ~ Analysis -—
£ ——— Analysis E 3
10_5 ;\ _\_ \_ ‘Ar}aIYSI\S ‘ | | | ‘ | | | ‘ | | | | | \é
1.4 ;\ 1 JAﬂalySi‘S ‘ T ‘ T ‘ 11 _\_ l \é
135 ——— Analysis o —=
3 Eo-o-o- Analysi i 3
g = =
8:3 ----- Analysis ~F — =
0.7 Analysis ~ E=iS =
8:% =o-- Analysis | o Lo [ . 1—7— ! =
0 ... 0&nalysisO-4 0.6 0.8 1 1.2
"""" Analysis —In(y12)




